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E £z K £ ouT IN GR HDCP NET =

&2 HE B= 37 42 19 7.0 72.0

#E ER EX 43 41 84 12.0 72.0
3 i = 40 46 86 14.0 72.0
4 |TH mIT 45 57 102 30.0 72.0
5 il || = 38 38 16 3.0 73.0
6 |BEM B2 40 44 84 10.0 74.0
7 I 43 48 91 17.0 74.0
8 |fkEAXK #EEA 47 48 95 21.0 74.0
9 B 1EE 39 40 19 4.0 75.0
10 8@ —F 39 42 81 6.0 75.0
1 Hd #& 39 42 81 6.0 75.0
12 |EXx =@ 38 46 84 9.0 75.0
13 |A®R = 45 44 89 14.0 75.0
14 | T3 #irg 4 40 81 5.0 76.0
15 |HERE X% 42 44 86 10.0 76.0
16 |AB E=X 45 42 87 10.0 71.0
17 /MR +— 48 42 90 13.0 71.0
18 |t FE8F 48 52 100 23.0 77.0
19 |¥rE 2= 44 44 88 10.0 78.0
20 R 46 42 88 10.0 78.0
21 |\®F 1ET 43 48 91 13.0 78.0
22 |kE FH 51 42 93 15.0 78.0
23 |F EE 44 46 90 11.0 79.0
24 | ga 47 45 92 13.0 79.0
25 | = 44 42 86 6.0 80.0
26 |EN RE 42 46 88 8.0 80.0
27 |HE FE 42 48 90 10.0 80.0
28 |WER ET= 47 44 91 11.0 80.0
29 |IRE Tt 43 39 82 1.0 81.0
30 |ATE % 4 45 86 5.0 81.0
31 |f7H  BIER 42 44 86 5.0 81.0
2 BB BB 48 50 98 17.0 81.0
33 |Fpith S5HH 44 43 87 5.0 82.0
4 |ME mE 48 44 92 10.0 82.0
3b BB X 51 46 97 14.0 83.0
36 |[FH RF 48 50 98 14.0 84.0
31 |Ef = 53 53 106 21.0 85.0
38 | KM H= 43 58 101 14.0 87.0
39 kA F 51 51 102 10.0 92.0
40 [ERI B2 45 60 105 10.0 95.0
41 L BE 54 59 113 16.0 97.0
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E £z K £ ouT IN GR HDCP NET =
B |EAK =F 39 38 71 9.0 68.0
#F RBRE EE 36 35 7 2.0 69.0

3 FK SF 38 35 73 4.0 69.0
4 (1T m 49 4 90 20.0 70.0
5 |fIR B= 46 44 90 20.0 70.0
6 XH AHK 38 43 81 10.0 71.0
i MR Flz 35 37 12 0.0 72.0
8 P BRsE 39 39 18 6.0 72.0
9 XH #Th 39 42 81 9.0 72.0
10 |#T HN 45 45 90 18.0 72.0
11 | K& =9 39 40 79 6.0 73.0
12 |%5F #BFE 42 42 84 9.0 75.0
13 |fET B8 40 41 81 5.0 76.0
14 2B & 44 38 82 6.0 76.0
15 |#%K @mE 42 52 94 18.0 76.0
16 |FEE K 46 53 99 23.0 76.0
17 |#H B— 43 38 81 4.0 71.0
18 |k EA 42 46 88 11.0 77.0
19 |5 EF 39 43 82 4.0 78.0
20 |[lUE B 46 4 87 6.0 81.0
21 |BH HE 52 46 98 16.0 82.0
22 |HF AfE 48 51 99 17.0 82.0
23 |HY {EE 47 48 95 12.0 83.0
24 |\thft fB— 58 56 114 21.0 93.0
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